
  ABC of Mathematics    

ISBN: 978-1-928336-30-3 Faksno. 086 618 3709 www.abcbooks.co.za 

 

 

JUST NUMBERS 
WEEKLY EXERCISES FOR GRADE 9 

 

 

 

 

Term 1   1   – 13 
Term 2  14 – 26 

Term 3  27 – 39 

Term 4  40 – 52 

   
See  www.abcmathsandscience.co.za for more 

 

INGRID DU TOIT 

http://www.abcmathsandscience.co.za/


ABC of Mathematics    
 

ISBN: 978-1-928336-30-3 Faksno. 086 618 3709 www.abcbooks.co.za 

 

 

Please note:  

 The answers in the middle of the book can be 

removed. 

 You may not use a calculator. 

 Give answers with positive exponents. 

 Simplify unless otherwise indicated. 

 

 

 

 

 

 

 

 

 

Copyright © 2018. All rights reserved. No part of this publication may be 

reproduced by any means without the prior written permission of the author.



  1 

 

 

a)  9,3 x 105   m)  𝑎 × 𝑎 × 𝑎 × 𝑎 × 𝑎  

b)  (–4)3 – (–3)2  n)  2𝑎2 × (−3𝑎2)3  

c)  
4

3
+ 

2

3
 ×  

7

8
  o)  4𝑥2  ×   𝑥  ×  5𝑥3  

d)  √1,21  p)  3𝑥(2𝑥 – 4) – 𝑥  

e)  
 

q)  
𝑎10

𝑎5
  

f)  
a = 2; b = –1 

 3aa – 2ab – b2 =  
r)  

𝑥

𝑦
 ÷  

𝑥3

𝑦3
  

g)  4(abc)0  s)  –2𝑥3 + 5𝑥2 – 3𝑥3 + 𝑥2  

h)  
6𝑥2−15𝑥

3𝑥
  t)  

3; 5; 7; 9; ..... 

Tn = 

i)  

Solve 𝑥: 

𝑥 − 5 = 30  
u)  

 j)  
𝑥

−7
= 3  

 

k)  5𝑥 –  4 =  8 –  𝑥  
v)  

 
𝑥 = ........................ (why?) l)  3𝑥2  =  48  

 

 



  2 

 

 

a)  100 – 110  m)  5b(–b2 – 2b – 5)  

b)  
−4+(−5)(−4)

(2)(−2)
  n)  

2𝑥4+ 𝑥3

𝑥2
+ 3𝑥2  

c)  
2

3
 × 26

5

8
  o)  

−3𝑥(2𝑥−3)

−𝑥
  

d)  √
16

25
+ 0,36  p)  7𝑥 − 𝑦 − (𝑥 − 3𝑦) –  𝑦  

e)  
−3

8
 = ...0,................. q)  2𝑎2𝑏 x (-5𝑎𝑏2) x (-𝑎𝑏)3  

f)  𝑎3 × 𝑎3  r)  𝑥2 − 2 − 5𝑥 + 3 − 3𝑥2  

g)  
(2𝑥2)2× 2𝑦2

4𝑦𝑥3
  s)  

𝑚 =  −2;  𝑛 =  4  

𝑚𝑛 + 2𝑚𝑛 + 3𝑚 = 

h)  √125𝑥153
  t)  

Tn = 4n – 3  

T25 = ................................ 

i)  

Solve 𝑥: 

14 – 4𝑥 = 7𝑥 – 8 
u)  

 

𝑦 = .................................................. 
j)  

1

5
𝑥 = 20  

 

k)  6(𝑥 –  2) =  3(𝑥 +  8)  
v)  

 
𝑥 = ........................°  (why?) l)  3𝑥 = 21  

 

 



  3 

 

 

a)  42 ÷ (–6) x (–2)  m)  −3𝑥 –  3𝑥 –  3𝑥   

b)  1
7

8
 x 

4

5
  − 

1

6
  n)  (−3𝑎)(−3𝑎)(−3𝑎)  

c)  (0,01)3  o)  (−2𝑥3)2  

d)  √1
2

25
+ 

36

100
   p)  √27𝑎273

   

e)  

 
q)  4𝑎2 − 2𝑎(−4𝑎2 + 2𝑎)  

f)  𝑥(8𝑥 + 2)  r)  2𝑥2 + 3𝑥2 ×  −2𝑥  

g)  
−48𝑎6𝑏6

36𝑎3𝑏9
  s)  

a = 2; b = -4; c = 5 

2𝑎 − 𝑏 + 3𝑐 = 

h)  
2𝑎2−6𝑎3

2𝑎
  t)  

1; 4; 9; 16; ..... 

Tn =  ............................... 

i)  

Solve 𝑥: 

–2𝑥 – 1 = 13 
u)  

 
j)  2(4𝑥 + 2) = 12  

 

k)  
4𝑥

5
 = –8 

v)  

 

Area = ............................... l)  𝑥 – 7 = –𝑥 + 1 
 



  4 

 

 

a)  –11 – (3 – 7)  m)  
12𝑥6

25𝑦
 ÷  

24𝑦4

−5𝑥5
  

b)  –1
1

2
 + 2

1

7
  n)  √25𝑎10 − 9𝑎10  

c)  2 x 23 x 26   o)  𝑎2 − 9𝑎 + 3𝑎2 + 4𝑎  

d)  √82 + 62   p)  
1

3
𝑎 +  

4

5
𝑎 − 1

2

3
𝑎  

e)  

 
q)  4𝑥(𝑥 + 2𝑥 − 3𝑦)  

f)  −2(2𝑎3𝑏4)2  r)  𝑥 + 𝑥 × 𝑥 − 𝑥  

g)  (2𝑎3)(−4𝑎3)  s)  
𝑎 =  −8; 

 (
3𝑎

4
)2 = 

h)  
9𝑎4−6𝑎

3𝑎2
  t)  

-13; -2; 9; ..... 

Tn = ................................ 

i)  

Solve 𝑥: 

−2𝑥 + 2 =  −4  
u)  𝑦 =  𝑥2 − 3  

 j)  2𝑥 –  6 =  2(3 –  5𝑥)  
 

k)  
𝑥−2

4
− 4 = 0  

v)  

 

𝑥 = ........................°  (why?) l)  𝑥2 = 64  
 

 



  5 

 

 

 

a)  (32)5  m)  −2𝑥𝑦 + 3𝑥 + 4 + 4𝑥𝑦 − 𝑥  

b)  (
2

3
+ 

4

3
) ×

7

8
  n)  3𝑥(2𝑥 − 5)  

c)  √1764  o)  (−5𝑎)(2𝑎)(−3)  

d)  – (13 + 6 – 7) – 8  p)  (4𝑥3)2(2𝑦4)  

e)  
12

25
 = 0,..................... q)  4𝑥𝑦2 ÷ 

−4𝑥𝑦2

2𝑥2𝑦
  

f)  √
250𝑥14

2𝑥2

3

  r)  6𝑥0 + 6(𝑥 − 1)  

g)  
𝑎3𝑏𝑐6

𝑎2𝑏𝑐
  s)  -6: 12; -24; .......; -96; 192 

h)  
6𝑥3− 𝑥2

𝑥2
  t)  

a = -1; b = 2; c = -3 

2𝑎𝑏𝑐 = 

i)  

Solve 𝑥: 

2𝑥 + 4 = 𝑥 + 8  
u)  Complete (direct proportion) 

 j)  √𝑥 +  1 = 11  
 

k)  
𝑥

3
= 9  

v)  

 
𝑥 = ........................°  (why?) l)  2𝑥2 = 32  

 



 

 

 


